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�8;8�8A=8'

/ ��� � !� � -!� �� ;��	��!� =-� �)*D4,-�A��������� ���	���� 	��	�� � �� � �� �����	�� ���� �0��� 	�� � � �� ��������-� � ��� � �

��� � 	 �� � ��� � � �� � � ��� �� � �� �� � )7)+-

/ ���	���!� / -!� � � @�����!� '-� �)**D,-� � � � � � � �� � �� � �� �� ���� � � �D	�� ��-,-� @����� ' � � � ��� � ����!� A%O� ?���	��� �

K���-

/ � ������ !�?-�<P���2 �����!�?-�>-� �)*4*,-�@���� � �	���: � � � � � �1 �<��������? �������� �� � �		���� � �	��� � ��

	������� ������	� ��������7��������� �	����	�-� � � � � � � �� � � � ��� �� ��� � � � � �� �� � � � � )C57)C4-�

/ � � � �� � �� � !�8-�A-!� �� / � � �!� �-� �-� �)*4+,-�#�	������� � �� � � � � �� � ������ ��� 	���??J37� �����/ � � ��7/ � �� �� � � �

����2 �0����7/ � ����� � � ��������-� � � � � � � ��� � �� � � � � ��� � � � � � �� � � �� � � � �B* *7C5C-�

/�� ���73��� ��!� 8-� �)**B,-� #�	�����	���� � ��� ��� � � 	� � � ������ ���� ���� � ���	������� � �� ����� ���1�������-

� � � � � ��� � � � � � �� � � �  �! �� " �� �# � �GGB7GQG-

/�� ���73��� ��!�8-!�� �� � � � � �72 �A ��� �!�'-��)**4,-� $ �� � �� �� � �%� ������ � � � �& �3��������. �1�!�= /O�'���- �

 ������	!�=-� <-� �8�-,-� �)*G),-� '���$ ( � ��� � � � � � ��� � � � � �� ��� � � � �& � A � � �M��1O� K�����-

 ��1!��-� / -� �8�-,-� �)*4B,-� ) � � �* � �+�� � �( � �� � � � �� � � �� � �� � ��� � � �� � ��* �� �& � ��	�� � ��!�2>O�%�����K ��1��� �

@�������	�� ?����-

 ���1��!�  -� / -!� ��  �����!� / -� �)**),-� ' 	�	�� � � �	��� ��	� ����������� ���� 	������	���!� ����� �	���� ���� ����� �

� �� �� � �� � �� 	�� � � �� 	��	�� ��� �����7���	����� ������� �� 	-� � � � � � �� � � � � � � �� � � � %��� �� � ��� � � ��� #�� �

) ) *7)CB-

 �����!�%-�?-�� )***,-�?������ ������ ������ �� 	�������� ����	�-� � � � � � ��� � � � � � �� � � �, � � ��� ��� �� #- � C5+7CBQ-�

 ��� � !� �-�3-!�� � ������!�>-�8-��) *** !�2 ����,-� . �� � � � �3 ��	����� �� � � � �3 �0	�N�/ ��� ���� � � � � � 	�� � �� � �	�� �

' �� 	����	����? �� � � � �� � �� � ��= �� ��� 	�� � !� '�������!� � /-

= �� ����!� �-� �-� �)*44,-� #��� ��� ��� 	��	���� ����-� � � ��� � � � � � � � / � �! � ����� �� �- � � BQ*7BD*-

= �� ����!�� -!�� �'������!�<-� /-� �)*4D,-�3��������6������ � �/ A . J �/ ������ �	��	�� � �	��	�����-� � � � � � � ��� � �� �0

� � � ��� � � ��� �� ��� ��� � �� #�� � 4D7* * -

= �� ����!� � -!� �� '������!� <-� / -� �)**+,-� 1 ��� � � � �� � � ��� � � ������ � �* �� � � � ��� � �� ���( �& �3��������. �1�!�=/-O �

'�� �-

=���1�!� / -� 2-� �)*45,-� @������� � 	��	�� ���� ������� � �� � ��-� . � � � ! �� �� ��� � � �. �� �� � � � �� � � � ��� 2� � CCD7CC*-�

= ���!�A-!���2 � ��!�?-� / -� �)*4*,-� �� �� ���	��	����-�#���-�<-�<�����8�-,!� � � � � � ��� � � ��( � � �� ��( � � � ��C�����-! �

��-� B5 )7BB5,-� A � � �M��1O� 2 ��� �����-

= ��� � � � !�%-� '-!�=�� �� ���!�8-�&P�K����� !�=-�%-!�2�?��	����!�%-!�2 �� � !�/ -�2 -!�: ��� ���� !�;-�> -!�� �M��1! �

�-� <-� �)*QQ,-� � 3� � ���� �� � �� � � � � ��� � � ��� � � � � �� � ���& �: ������	��!�>=O�@-' -�� � � ���� ��	�?���	��� �

. ���� �-

> �� �� �!�2-� K-� �)**D,-� #� 	����� �� ��� 	��	���O� '	�	��� ���� 	�����-� $ ( � ��� � � � � � � � � � �� � �� ���4 � � � )5C47)5+G-�

>��	!�K-� 8-� �)**Q,-�A ��7� �� �� � � � ��� ��� � � 	� ���������	��� � ������ �� 	N�#�� �-� <-�%����� �8�-,!� ) � � � * � �+�� � �

�� ��� �� � � �( � � �� ��( � � ��� � � �. �� �+�� � � � �� ��� � �&� 5���( ��# � ���-� )5C7)BB,-�K�� �	��!�J /O�=����� �

K����-

8 � ������!� ;-� �)**5,-� / � � �� � ��	�� � 	�� � � � � � 	��	� ����� ��� ���7���� ��� � � � � �	�� � � � �������� ���� 	� � � �	�� �� �

������-� � � � �� � �� � � �� � � � � � � � � � � ��� � � ��$ �� � ��( � � ���6� � C+7+) -



8���� �1!�K-�%-��)*4+,-�8 ��� � 	�� � ���������� � ���	��������	��	���� ���-�#��=-��-� � � � � � �� �����-�3-� �� � � ��8 ��-,! �

� � � � � � � ��! � � �� � �* �� � � ���( � � �� ���� ���� � � ���-� BGC7B* ) ,-� A � � � M��1O� ?����� -

;�������!� �-� / -� �)**),-�  ���� � � � ���� ����� ��� �� � � �	����-� 7 �� � � � � ��3 � � �� #89#:� � D574G-

;�����!� =-� <-� �)***�,-� =��	���� ���� 	��	� �� � ��� � � ��������O� ?��	� #-� � � � � � �� � � � � � � �� � � � , � � � �� ��� �� #-� �

B QC7B45-

;�����!� =-� <-� �)***� ,-� =��	���� ���� 	��	� �� � ��� � � ��������O� ?��	� ##-� � � � � � �� � � � � � � �� � � � , � � � �� ��� �� #-� �

B 4 )7C5C-

� ����� � ��!�R-� ;-� �)**+,-�=����7���	����� ���� �	���� � ������ ��	O�3������	���� ���� ����	�	���� ���� ��� �� ��� �

� � � �� � � 	��� ���� �	���� ��	�����	�	���� � � � � ��� ��� � � 	� ���	��� ��	�-� � � � � � � �� � �� � ��$ �� � ��( � � ��� �� �

C5+7C)B-

� �����!��-�/ -��)*4D,-�%�� ���L�����	����	������ � � ���� �� � �	��	�����O�/��� � 	�0	� ���� �� � -�#��'-�2 � � � ���� = - �

2 �� � ��� �8��-,!� $ ��� � �� � �� ��� ;� � � � ��� �� �� � � � � � � � �� � ! � � � � � ���-� DD7)G+ ,-� A �� � M��1O� ;��� �� �

?����-

� �����!�8-�: -!��� ��		�������!�2 -��)**+,-�� ���������� 	����� �� ��-�#�� -%-�'	���������8�-,!� � � � � � �� � � � �� �

� � ���( ��� �� ������ �� �� � �J � �-� B!� ��-� 44*74* * ,-�A � � �M��1O� 2 ��� ���� �-

� �����!��-�/ -��)**D,-� ) � " �� ( � � ��" � �� �� �� * � � ��" � � ��" � �* � � � � � � � �;�$ ��� � � � �� � ��� � ��� �$ . � �< �" �& �@�����

���� �� � �����!� �� � ��� � ��� ���� �?��� ����;���!�A � � �M��1!� AM-

������!��-�/ -� �)*4D,-�%�� ��� I�����	����	������ ������ �� � �	��	�����O�/��� � 	�0	� ������	���-�#�� '-�2 � � � ���� �

=-�2 �� � ����8�� &:&�$ ��� � � �� ����� ;� � � � ��� �� ��� � � �� � � �� � ! � � � � ����-�D D7)G+ ,-�A �� �M��1O�;��� ��-

� �		���� ��� !�<-� '-� �)**+,-� 8����	������ ��� 	�� � � ����� � ��� � 	 �� � � �����-� � � � �� �� ��2 =92 : � � GC7G*-

� �		���� ��� !�<-� '-� �)**D,-�2 ����	���� ����� � � � ���� �� 	����� �� ��O�/ �����	������� �	��GB������	�����!����	���! �

���� ������������-� %� ������ � � � �� �B+ !)C7BC-

�����!�'-�%-��)**G,-�=��������-�#��'-�;�������8�-,!� '� ��* � ���� � � ! � �" � ��;� � �� �� �� ������ �� �� �� � � � ������ � �� � � �

� � �$ ( � ��� � � ���-� ))7BB,-� A � � � M��1O�  � ��� � �1�-

� ����!� '-�%-� �)**Q,-� '��� ( ��( � � �� �� � � � �( �� � ����-� ��-,-� A �� � M��1O� A��	��-

K���-��-�<-��)*4C,-�/���0�� �� � 	�� � ���������	���	���������	���: #'=7� ��������� � � �� � � � � � � �� ��	�	��-� � � � �0

� � ��� � �� � � � � �� � � � � � � �� � � �� �#� � )GC7)GQ-

K���!� �-� <-!� � ��� ��� !� 2-� �-!� �� ��9��!� / -� K-� �)*4B,-� 8�����	���� � � � �� � � � � � � �� � �	�	��� ����� ��� 	�� �

: #'=7� -� � � � �� � ��� � �� � � � � �� � � � � � � �� � � �� �>� � )+G7)+*-

K�� ����!�8-� J -!� ��> �� �� � !�%-� '-� �8 ��-,-� �)**) ,-� ? �( ���� � �* �� � � ��� ����� � � � � � ( � � ��� � �* ���� � � � ����� � � � ��& �

/ � �	�� !�3FO� ?��78�-

K�� � ��	��!� �-� R-� �)**C,-� 3������	���� � �� ��� �� �� 	� 	��	�� ���� ���� ��� ��� ��7��	�� � � �� �	�����-� � � �� � �� � �

� � � �� � �� � � �� � � � � � �� � �� � ��$ �� � ��( � � ��� �� �GD7Q4-

K�� � ��	��!� �-�R-!� ��  � ��� � �1!�%-� �)**),-� / ���	���� 	��	���� ������ ���� �������	����	����O�3 ��� � ��� �� ���� �� �

���� � �	����-� . � ��� ��� � � � ��� ��%��� �� � ��� � � �� ' � ��� � �( ( ����� � �� #6� � C7CB-

K�� ���	��!� �-� RP� �� ' � �� ���	���!� K-� �)*4G,-� %��( � � � � � � � � � � �� � � ��;� � � �� � �� �� � � � � � � � � � ��� � ��� � �& �

 � �	� � !�2/O� R�����-

K�� � ��	��!� �-� R-!� '� �� ���	���!� K-!� �� � �����!� K-� %-� �)**) ,-� � � � � �( � � �� ��� � � ����( � � � � � � � � � � �� � � ��& �

A �� � � �� � ?��1!�=/O� '���-

K ��� �!�%-�8-� �)**B,-�: ������ 	����� ����	����� � ����	������6 � �� � ��� �� �����	������������ � � � �	�� � � �����	��	� �	�

���N� $ ( ���� � � � � � � � � � �� � �� ��� -8 � � )54C7))5)-

K�����	���!� �-�%-� �)*4B,-� #&� 	��	���� ���� 	��� � ����-� $ ��� � ��� �1 �� �� �� � �/ � � � �	,!� �4>� � Q47D+-

K��� �	��� !��-�%-!���2�����!�=-��)**+,-� '���* � ���� � � ! � ;�%��� ���� � � � � �� � � �� �� � � �� ��� � �� �� ����$( � ��� � � �����& �

A � � �M��1O� ;����?����-

K�������!�/ -��-�# ����)*4+,-�#&�	��	�������	����� ���� �L�� ��� ���� 	� ��O�/ ����	�6���� � �%�� ���L�� . �� �����1 �� �� � �

' ����� �& � #��=-� �-� � �� � � �� �� �� �-�3-�  ��� �� �8 ��-,!� � � � � � � � ��! � � � ��� . �� � � ���1 �� �� �� ' � ���� � � ���- �

)C*7)Q* ,-� A �� �M��1O� ?����� -

K���� � � !�  -� �)*QB,-� '��� �� �� � � � � � � ��� ���� �& � A � � �M��1O� = ��� ���7= ������-

K���!�%-!� �� � ��� �� �	�!� K-� �)*4),-� ������� ��� ���	����O� / � � �� ��� � � � � ���� ��� 2 ��	���3 ��	�� �-� $ ( � ��� � � �

� � � �� � �� � � �� � � � � ��� � �� 6� � � C5G7CB*-

K���-� >-� <-� �)*44,-� � ��� � � � � � � �� �� � � � � � �& �=������O� @�������	�� � � �= � �� � � � �?����-



K�� ������!� <-� �-� �)**B,-� / � ���	� � 	��	���-� � � � � � � �� � �� � ��� � �� � � � �� 2� � BD)7BD+-

#�����!� '-�K-!��� ����!�%-�:-�S)*44,-� ) �( ���� * ����� � � ����� � ��� �� ��� � � ��	 �& �A �� �M��1O�=�� �������@ ��� � � �

��	��?����-

%���� �!� �P� �� � ������� ��!� A-� �8��-,-� �)**G,-� '��� . � ��� � � �!� � � �* � �� ;� ) ���� ���� � � � � ( � � ���� � � �� �� � �& �

A �� �M��1O�3 �� � �� � �1�-

%����� !� / -� �-� �)*Q*,-� K �� � ����� ���� � � � � � � �	�#&� ���� ��� � �� �	��� � �� �� � � � � � 	N� ) � � ! � � � � � � � � � ��� � � � �

 � ! �� " ��2� � � )7)QC-

%����� !� / -� �-� �)*45,-� . �� �� ��� ( � � �� �� �� ���� �& � A �� � M��1O� ;����?����-

%����� !�/ -� �-� �)*4+�,-�3 ��	�����O�=�����	���������	����� �-�#�= -��-� � � � � � �� �����-�3-� ��� �� �8 ��-,!� � � �0

� � � � ��! � � �� � �. �� � � ���1 �� �� �� ' ����� � � ���-� G5D7G4Q,-�A � � �M��1O� ?����� -

%����� !� / -� �-� �)*4+� ,-�3 ��	�������	�O� � � ������� 	��� � � � � ���� �	� ����	����-� � � � � � � ��� � �� � � �� ��� � � �. �� �� � �� � � �

� ��� � �� �� �� � D!� *C7) )4 -

%����� !�/ -��-�� )*4+�,-�?���	��� ���� � � �� � �� � ����������	��� �����������-� � � ��7 � ��� �@��� � � �� � 4 � + Q57+QB-

%�����!� / -��-� �)*4D,-�> �������	���� � �� � � � �� � �O�3�� ����� � � ��� �� �-�#�� '-�2 �� � ���� = -�2 �� � ��� �8��-,!/ �77 �

�� � ��� �� ��� ;� � � � ��� �� �� � � � �� � � �� � ! � � �� � � ���-� CGC7C** ,-�A � � � M��1O� ;��� ���?����-

%�����!� / -� �-� �)**+,-�� � �������#&� ������-�#���-�%-� '	�������� �8�-,!� � � � � � �� � � � �� � � � ���( ��� �� �� ���� � � � � �

�J � �-� B!� ��-� 4 * *7*5D,-� A �� �M��1O� 2 ��� �����-

%�����!� / -� �-� �)**4,-� '��� � �� � � �� � ; � '��� � � �� � � � � � � �( � � �� ��� * �����& � : ��	���	!�=3O� ?������-

%����� !� / -� �-!� � �2�� ��1!� ;-�=-�%-� �)*4D,-�  �� �17� � �	� � ����� ��� "���	����$�����"������	����(� 	��	� �	�� �- �

� � � � � � � ���� �� � � �%�� �! �� � � ��7 ������ � � ����6� � B*G7C5) -

R���	!�%-� : -� �)***,-� %���� � � � ��� � � �� �� � � � � � �� � � � �G	�� ��-,-� ?������� � ����!�=/O�  ���1��= ���-

R��	�!�3-� H-!�;���	�!�2 -�K-!�> �� ����!�2 -!� > ��� �� �!�=-� 2-!� '�������!�8-� / -!� �� ' 	�� � � �!� 2-� <-� �)**G,- �

@ ��� � �� � �	�7��� � ���������� �	�������	����� � �� ����	��	��	���������	���	�����O�/���0�� � �� �� ��� � �	�� �

R7/  = -� � � � �� � �� � � �� � � � � � � � � � � ��� � � ��$ ��� ��( � � ��� #2� � C+D7CQ+-

R��������!� ;-� A -� �)*4+,-� ? �* �� � ���( � � � � � � � � � � � ! � ���( ;� '��� � � �� �� � � � � � � ��� � �� �� � � � �� � � � � �� � ����� � � �& �

K����� � ��!� A%O� 8������-

R��!�3P�/ � � � 	�����!�/ -!���2 ���� � � ��� !�=-� '-� �)*4+,-�=��	����� ����� ���: #'=����	��	��	�� �O�/ �� ��� � � ���	� �

%������ ����I��� � � � � �	�� � ��������	����	��	���? / '8 � � � �-� � � � � � ��� � � � � � �� � � � �! ��" ��#2� �4*7*+ -

<�� !�3-� =-�2-� �)**C,-�3��	�����	�O� /����	����� ������ ��� 	��	���� ��� � � � � �� � �����	�� �	����	�� � �	�� �	�������

����� � �� ��� �� �� 	� 	��	�-� 1 �� �� ��( � � �� � � � � � !� �� � ��� � � ��� � � � � �� ��� � � � � � � 7 � ! � �� � ( � � ��� � � � �

)D*7)*) -

<�� ���!�%-� 2-� �)*D4,-� %,�� � � � ���* ����� �� � � � � �� ���(& � A �� �M��1O� #�	����	������ ?���������-

< �� �7K ��� � !�?-� �-� �)**Q,-� / ��� � � ��� � � ��� �	����� !����	��� ����������� � � � �6 � � � � � � �� � �� � � ��6 ��� 	�� �� � � ��� �

�	�-� $( � ��� � � � � � � � � � �� � �� ���4#� �*4 )7*4C-

<��	��!� <-� / -� �)**D,-� � � � � � � �� � � � �Q	�� ��-,-� A ��� � � � �K ���� 	�!�2 /O� / ��� � � ��  ����-

<���!� �-�<-!� ��: ��	�!�=-8-� �)*D),-�= ��������	����� �����	������� � �	��	� ����-� � � � � � � ��� � �� � � � � ��� � � ��1 � �0

�� ��( � � ��� 6� � )T+-

2 ����	���� � ' � �� � � � � ���#� 	� ���� � � � �-� �)**+,-� A ���� � �� � � ��� � � �� � �� � ��-� / #D 7/ ) 4 -

2 �����!�%-� �-!� ��< �� ��!�%-� �)*D4,-� � � ���( � � � �( � ���� � ��� � � ��� �� � � ��� ��� �� ��� ��( � � �&� �B1 �$& �A �� �M��1O �

?�� � � � �� � �� � �� =������	���-

2�����!�%-� �-� �)*D*,-� 80���	� 	��	�� � � � � ��� 	���<����� ?-� 	����� 9? � �� � � �&� !&�  ��� �:& �+*G� ;-� ' � � �-!� A��	���� �

>��	���	�=/-

2 ��� ��1 !�'-� �)*4*,-�J ���� �	�-�#���-�<-�<�����8�-,!� � � � � � ��� � � ��( � � �� ��( � � � ��C�����-!���-� )C7)5C,-�A �� �

M��1O� 2 ��� �����-

2 �����1 !� '-� �)**Q,-� J �����	�� � � �� �� � � � �� � �� � �� ������� �� 	O� J �����	���� � � � ����������� ���� � ����� � �I� ���

�� � � ���� ���� ������� ������ ��� ���� � 	���� � ��6����� ��	�������� � ������-� $( � ��� � � �� � � � � � �� � �� ���4>� �

D+ )7D+* -

2�����!� '-�?-� �)*45,-�3��� �� ��� �� ��� � � ��0�� �� � � �L� �	����� �		����	������ �� 	����� �� �� � 	��	� ��� ���-� � � � � � � �0

� � � � ��� ���� � � � � � ���� #8� � ))D7)BB-

2�����!�'-�?-��)*4��� ,-�� ���� � ���	� ������ � ��� �	��� � �	���: � /3 �� �	��2 �0����7/ � ����� � ���������-� � � � � � � �0

� � � � ��� ���� � � � � � ���� #6� � )G+T)G4-



2�����!� '-� ?-� �)*4)� ,-� ;��	��� �� � �� ���� � � � 	��� 2 �=��	��� ' � � �� �� ���� ������� � � � : ��	�� ���� 2 �0�7 �

���7/ � ������� ��������-� � � � �� � �� � � �� � � � � �� � � � � � � �� � � �� #�� � )D47)4B-

2�����!�'-�?-��)*4B,-�3���: #'=7� ������ � �� � � � � �� � ��	�� ����������A �	�� �7/ � ����� � �A ���9��-� � � � � � � �� � � �

��� �� �� � � � � � ���� #�� �+ G 4 U Q + -

2�����!� '-�?-� �)*4C,-�8����	��� � ��0�� �����L� ������1� �� ��� � ��� � ����9��	�L��	�� ���	������ �� 	����� �� ������	�� �

��������� � � ����������� 	�� 	��� '	������7 ���	� �����-� � �� � � � �� � � � ��� ���� � �� � � ���� �>� � )CC7)CQ-

2 �����!� '-!� �� 2 �����!�=-� �8��-,-� �)*4D,-� $ ��� � ��������;� � � ���� ����� � � �� � � ��� !� ���& �A �� �M��1O� ;��� �� �

?����-

2�����!�/ -�2 -!���2 �����!�'-�?-� �)*4C,-�#�	����	����� ��� � 	� �� � ��	�� ���� 	�� 	������ 	�� ���������� �� ������� �

��� ������� ����� ��� 	���2�=��	��� ��� ���-� � � � �� � �� � � �� � � � � ��� � � � � � �� � � �� �#� � BQC7BD5-

A�	��� ��� / ��� � �� 	�� � �� � �' � � � � ��?�� � � � �� � ��	�-� �)**C!�/ ����,-� ' � � � � ��? �� � � � �� � �� 	�L� �� � � �� �� �� 	� ���	�� �

����� � � �������� �� 	-� ?���	�� � � �	�	�� ��	� ����	��� ��� A / '? �> ���� � 	� � / ��� � � ��-

A ����� �!�@-!� � � � � � !�� -!� �������!�3-�%-!�  ��1��!�/ -�:P� ����!�AP�= ���!� '-�%-!�K��� �� !�>-� ;-!�< ��� ���! �

%-� =-!� ?������!� �-!� '	�������!� �-� %-!� �� @�����!� '-� �)**Q,-� #�	����� �� ��O� R��� � �� ���� ��1��� ��- �

$ ( � ��� � � � � � � � � � �� � �� ���4#� � DD7)5 ) -

. �1����!�3-� �)*4C,-�=��������	��������� ��	�� �� ����� �	�� ��	�� � 	��� ����	��� : #'=7� �#&������8<?����� ���

� �� �7�	� � �� � ���� '8 '� ������-� � � � � � ��� � � � � � �� � � �  �! ��" �� #�� �GD7Q) -

. ������ !�2 -!�� � � � �� � � �	!%-�<-� �)*4),-�=�� ��������� � �� �������������� �������	���: #'=7� �����	���8 ����� �

� ��#�	���� �� ��� � : � �� �����?����A �� � �-� � � � � � � �� � � � ��� �� �� � �� � � ���� #6� � )G*7)QC-

. �	������!� '-�%-� �)*4*,-� � � � ���� ���� � � �� � �����( �& �  � �	� � !�2 /O� R�����-

?��	��1!� �-� �)**Q,-� %���� � � � ��� � � �� �� � � � � � �� � � � �+	��� � -,-� ?������� � ����!�=/O�  ���1��= ���-

?�	��	!� �-�2 -!�: ������!�R-�<-!� �� � ����!�A-� -� �)*44,-� /�� �� � ��	�� � 	�� � � � � ���������	���� ������	���� � �	� �

	��� :#'=7�-� � � � �� � �� � � �� � � � � ��� � � � � � �� � � �� � � � � G*7Q4-

?���!��-�2 -!��� ���!�>-�?-��)*4*,-�/���0�� ���	����� � ����	����������������	���	�� ������	���: /#'7� �#�����

� �	���� ���	��	� ��	��=�������� ���9��	�-� � � � �� � ��� � �� �� � � � � � � � � ��� � � ��$ ��� ��( � � ��� 8� � )C)�7)+5 -

� ��1���!�2-�>-��)**4,-�= �� ��6���	��������� �	������ �	���	��	�� � � � �� � � �L������� ��	�� �-� � � � � � ��� � � ��1 � �0

�� ��( � � �;� %������ � � � �� � � � ��� � �� #89�:� � )C7)Q-

� ��� � �� � !� >-� %-� �)**D,-� > �� � � � �	�� � ���� 	���	� ��	� �	���	�� � � � �� 	����� �� �� � 	��	�-� #�� > -� ?-� ;�������!� %-� <- �

� ������	!� ��?-� <-�K�������� �8��-,!� � � � ��( � � � � �� � �� �� ��� � �� � ��� � �� ��( � � �;� ' � �� ������ ������� � � � �

�� �� � � � ���-� +CD7+GQ,-� A �� �M��1O� � �������-

� � � � � �� �!�=-��-� �)*45,-�/ ���0�� �� � 	�� � ��������������������� � � ��	��	���		����������������������0-� � � � �� � � �

� � �� � � � � ��� � � ��1 �� �� ��( �� ��� #8� � )CD7)+Q-

� �� � � �� �!�=-� �-� �)*4C,-� � �� ������ � � �� � �� ���� � � ������ ���� ��0� ����� ��� ��� � � � ������ � � �� 	��	�-� � � � � � � �� � � �

� � � � � � � � � � � ��� � � ��$ ��� ��( � � ��� #� � )Q*7)D4-

� �� � � �� �!�=-��-� �)**4,-�� � �������� ���	��	���-�#���-�%-�=������� ��/ -�%-� /���������8 � �-,!� � � � � ��� �� � � � � ��0

� � � �� � � � �� � � � � � �� � � � �B��� ��-!� �-� D+5,-� A �� � M��1O� : ��� �-

� � � � � �� �!� =-� �-� �)***,-� =��	����� ����� ��� 	��	���� � � � �� 	����� �� �� � ���� ���������	�-� #�� =-�  ��� �� �8�-,! �

� � � �� � � ��� �� �� � � � � �� � �! �� � � ��� ������ � � ��& � J ��-� )5�� � �2 -� K������ �� /-�  ���� �1� �8 ��-,!� � � ( � � �0

� �� ��! � � � ��� �� � ��� � � � � � �� � � � ���-� GC7*B ,-� .0����!� @RO� 8���� �� � � ' � �� � � �-

� � � � � �� �!� =-� �-� ���� �����,-� : ��� ��� � � � ������� ��������� ��� ����� ��� ���	��� 	��	���N� � �� � � � �� � � �� � � * ��� �

� � ���� �� � � � �?�"&

� �� � � �� �!�=-��-!��� ��� � !��-�3-��8 ��-,-��)*4+�,-� �� ������ ��	���	��	���O�/ � ���	�����	����	� �	������� ��-�#� �

=-� �-� � �� � � �� �� �� �-� 3-�  ��� �� �8��-,!� � � � � � � � ��! � � � ��� * �� � � ��� ( � � �� ���� ���� � � ���-� )7C*,-� A � � �

M��1O� ?����� -

� � � � � �� �!�=-��-!��� ��� � !��-�3-� �)*4+� ,-� � � � � � � � ��! � � ����* �� � ����( � � �� ���� ���� �& �A �� �M��1O�?����� -

� � � � � �� �!�=-��-!� ��?������!�:-�=-��)*4C,-�2 ��	������ �� ��	��� � ���������	��� � �� � �3 ��	�� � � � ��� �= �� ��� 	� �

�; ��� �� / � ��  ,� ���� : ��	�� ���� ����2 �0��� �7/ � � ���� � � ��������-� � � � � � � ��� � �� � � � � � � � � � � ��� � � � �

$ ��� ��( � � ��� %� � )CG7)+B-

� �� � � �� �!�=-��-!�< �� �!�?-�/ -!� �� ' ��� �!�/ -�<-� �)*** ,-�3���������� �� � ������ ���� � � � � � �� � �� � �� ������� �� 	- �

#�� =-� �-� � �� � � �� �� �� 3-�  -� � �	1��� �8 ��-,!� ) � � �* � �+� � � � � � � � � �� � � � � � � �� � � � �C��-� ��-!� ��- �

G+*7G*G,-� A �� �M��1O� : ����-



� �� � � �� �!�=-��-!�: ���� � !�J-�<--���=��	� ��!�'-��-� �)*4+,-�#	�� ���������	��� )*4)� ��� ���� � �� � �	���?��� � � � �

?��	���� J����������3��	� ������ �� ��� � � �	� ��� � � ���	��	�� � � ����-� � � � �� � �� � � �� � � � � � � � � � � ��� � � � �

$ ��� ��( � � ��� � � �B ) *7BB+-

� ���������!�3-�&-� �)**C,-�  �� �1����	����� ����������	����O�#�� �	����������� �	�N� � � � � � ��� � � � � � �� � � � �! ��" � �

� � � �GQB7GQD-

� ���������!�3-�&-� �)**G,-�3���� �� � � � �� ��������������� '���. � ���� � �!�&�� � � � � ��� � � � � � �� � � � �! �� " ���- � �

1:;11'� <

� � ��� � � �� !� %-� K-!� �� 2 �� ���!�  -� / -� �)*4),-� 3 ��	� ����O� 3��� �	���� ����!�� � �	��� �� ��-� � � � � � � �� � � � ��� ��� �

� � � � � ���� #6� �+G57+G+-

� �	����!� #-� =-� �)**G,-� 2 �	��� ����	� 	��	� ������ �� � ��������-� � � �� � � � �� �8>� �++Q7++4-

'�� � � � � �!�%-!���2 �����!�2-�?-�: -��)*45,-�/ ��� �� �� �� � �9� � � � � � 	��� � �: #'=7� ��	�� �������� �	� ������ �����	� �

������-� � � � �� � ��� � �� � � �� ���� � � � � � � � ��� �� � ��� � � � � � �� � � �� -6� � B+*7BGC-

'�� � � � � �!� %-!� H�� � ��� ��!� #-� <-!� � � : � �7' � � !� %-� 2-� �)*4C,-� =��	����� � ������� ���� ��� : #'=7� � ������ �

�	�� �-� � � � �� � �� � � �� � � � � �� � � � � � � �� � � �� �#� �+ *7GG-

'����!� '-� �)*4),-�#� � ����	� � ���� � ��O� /� � �� ��� � � � � �� �� ���2 �� 	���3 ��	�� �-� $ ( � ��� � � �� � � � � � ��� � �� � � � �0

���� ��6� � � CC57CC4-

'����7'�����	�1!� '-� �)*D),-� � ���!� �� ��� �� � �� ��!� ���� #&-� � � �� � � � � � )D+!� )B4G7)B*G-

'� ������!�=-�;P��� ' 	�� �!�%-�2 -��)*4G,-�/���0�����	���� �� � ��	�� � 	�� � �	��� �	��	������7���	������ ������� ��� �

��� 	��� ??J37�-� � � � � � � �� � � � ��� ���� � � � � � ���� � � � �C4C7C4Q-

'����!� 2-� �-� �8�-,-� �)**4,-� $ � ! � � � � � � � � � ��� � ��� � � � � � �� � � ��� � �� ( C*� �� � � ( � � �� ��( � � �& � A � � � M��1O �

� �������-

' � ���!� / -� 2-� �)*QQ,-� '��� �� ���� � � � � �< �� �� � �� �� ���� � � � � � �B��� ��-,-� A � � � M��1O� ' � � �� �� ' � �� � � � �?����-

' ��� ���	��� !� /-�  --� ��� ��!�R-�/ -!� ��2 ���	�!�>-�A-� �)*4B,-�' � � �� ��� �� ���� ���� �� � � � ����� 	��� � �� � �3 ��	�� � �

 � ��� � =�����	�O� /��� 	� ��� ���� 	�� ����N� � � � � � � �� � � � ��� �� �� � � � � � ���� #�� �+C)T+7CB-

'������ ��-�2 --��� � �	�� ��!� '-� �)*44,-� '��� �� � � � � �� � ! � � �� �� �� ��( � � �� � � � � �� � * ��� �� � ��� �& �A � � � �� ���

� ��1!� A%O� 3������	���-

'����� ��!� =-� �)*BD,-� '��� � * ������ � � � � �( ��& �A � � �M��1O� 2 ��2 �����-

'? ' '#-� �)*Q*,-� 3��� '? ' '#� '	�	�� ��	-� ) � � ! � � � �� � � � � ��� � � �� �! �� " ��2� � �QBG7QBD-

'	�������!��-�%-!���>�		��� ��!�>-�R-� �)*4Q,-� A ������� �� �� ���� � � � �D�� � � �� ( � � � � �� �! �� " � � �� �� ���� ����� �0

�� �� � � � � �� ���� ���� �& � A ��� �� � !�A%O� / ���0-

' 	���!�  -� %-� �)**B,-� ?�����	���� � � � � � � �� � � � � � 	� ��� / ��� �7/ � ����� � � ���� : ��	�� ��������-� � � � � � � �� � � �

� � � � � ��� � � � � � �� � � �� 2>� � * )7* * -

' 	� � �!�  -�%-!�� �� ������!�  -�8-��)**) ,-�3��	������� � ���1��������	��� ������ �� � ���		���O�?�����	����� � � �� � � �

� ��	� ���� : ��	�� ���� A �	�� � � / � ������� ���� ��	���� �	����	�-� � � � � � �� � � � � � � �� � � �  �! �� " �� �>� �

)CB7)C*-

'� ��1�!�<-�/ -!���J ���� ���!��-��-��)**D,-�� ���7�	� � ���	� ������ ���������� 	����� �� ��-� $ ( � ��� � � �� � � � � � �� 0

� �� ���4 � � � ) )5C7)))+-

'� ��1�!�<-� / -!�2 �����!�?-�%-!�� �?��	���		�!�%-� �-� �8 ��-,-� �)**Q,-� ) � � �* � �+�� � �( � ���� � ��� � � ��� � �� ��( � � �; �

� ��� �� � ��� � � � � � � �� � �� � ��� � � � � � � � � � ��� � � �� � � � ��� � ��� � �& � '��� ; �� � �����!� =/O� %���� �7 � �� � ?���

�������-

3 �����!� �-� <-� �)**),-�  �� �� ��� � � � � �	�� � � � ������ ��	O� #��� ��!� �� � ���� 	�� � �!� ���� ��	���� �����	����- �

7 �� � � � � ��3� � �� #8� �C 7G-

J ���� ���!��-��-� �)*4+,-�� ���� � ���	� �� � �	���� �����=��������?��������� ��2 �	����������/ � � �� ���������2 �0�7 �

���7/ � ����� � � ��������-� � � � � � � �� � � � ��� �� ��� � � � � ���� �#� �+ *7GB-

J ���� ���!��-� �P���� ��1��!��-�%-��)*4G,-�8 ��� �� ���� � �� � � 	�0	���������	���2 �=��	���' � � �� � �� �	� �2 �0��� � �

/ � ���������������O�#� �����	������� ��	��	�	������	��������� � � �������������� �� 	-� � � � � � � ��� � �� � �0

� � ��� � � �� � � � � � � �� � � � � DD!� )*D7B5D-

J ���� � �� !� �-� �P� �� � ��1��!� �-� %-� �)*44,-� 8 ��� � � � � � � � � ����� ��� ���� ��	�� �� � � ��� �	�� � � � 	��� R���� �� �

/ ��� ��� � � � 	�  �		���� ����=�������� ��� �� � ����� � � �/ � � �� � ����2 �0��� � � / � ������� ����� ���-� � � �0

� � � �� � � � ��� �� ��� � � � � �� �� �4 � �BGD7BQC-



J ���� ���!��-�� -!�� ��1��!��-!���< �� �� � �	� � !��!��)**Q,-�R7/  = ���� 	�� 	�����O�= �� � ����� � ��� � 	� � � � �2 �0 ��

���� / � ����� � � ���� : ��	�� ��������-� � � � � � � �� � � � ��� ���� � � � � � ����2 � � � )GC7)Q*-

J��� ��� J �9���!� ;-!� ��?���	����!� M-� K-� �)**+,-�  ���O� : ����� � � � � � � �� � � � ���� � � 	� � � � �� � � � � ��	-�#�� / - �

 � � � � !�;-� ����� ��J�9���!�?-� � �1 �!���?-�' �� � �	���8��-,!� � � � �� � � ���� �� �� � � � �C�� ��� � � ��� � � � � � �� � � �

���-� ) ) )7)BQ,-� A�	��������O� ' � �	�� ��H��	������-

J������J �9���!�;P�� �?���	����!�M-�K-� �)**D,-�3�� ��� �������	����	���� � � �� ����� � ���������� �� ��7���	� ����� ��

����� �� 	-� � � �� � �� � � � � � �� � ��� � �� � � � � � �� � �� � ��$ ��� ��( � � ��� #2� �B*7CD-

: ����!�<-!� ��?����	���!� / -� �)**G,-�/ ���� � ���	����� � ���������	���� ������	����� � �: #/3 �� � � �� � � � � � 	������� �

���� � :#'=7###� ;'#&� ������� �	����� ���� ������� ������-� � � � �� � �� � � � � � � � � �� � � � � � � �� � � �� 22� �

B*D7C5+-

: ��	�� !� : -� �)**D,-� � � � � � � �� � � ;� ' � �( ��� � � � � ! � ��� ��� � � � �+	�� � � -,-�  ��� � � 	!�=/O�  �� �1��= ���-

: �����!�/ -�R-!� ��������!�: -��-� �8��-,-� 9#�E�:&�$ * ����� ��� ���� � ;� / ����� � � � ��3� �� � � ��� � � � �� � � �� � ! � � ��� �& �

: ��� �� � 	� � !�>=O�A�	��� � �� / �� � �� � � � � �' � �� � � � �-

: ����� � �!� �-� <-� �)*D),-� / � � ���� ���� � ��� �� �� ��� 	��	�� � � � �� �1� ����� ���-� � � � � �� ��� � � � � � � � � �� � �� ��� �� �

QB7DD-

: ����� � �!��-�<-��)*D+!�2 ��,-� ' � �� � 	���� ������� �����#&O�3�������� 	�� � � � �� � �� � �	���� ���1��� � � � � �	�-� � � � 0

� � � �� � � � ' � � � � � �CBU))-

: ����� � !� J-�<-!�A ���� !� �-�;-!� � � � � � �� �!�=-� �-!� ��R�� �����!� �-�: -� �)*4*,-� � ���� ����� �� � ���� ��� � 	� � �� �

�	�� ��� � �	�� � �� � ���� 	���R���� ��� / �� � �� � � � 	� �		��������=�������-� � � � � � � ��� � �� � � � � ��� � � � � � �0

� � � �� �8 � �B4*7B*Q-

������� �������� � �����  	!�����
� ���"������ #����� �$���%&'� ()))


